EARAROBREBRT —5 XN—ZXBISH—F

202368848 (&) 100EH6H

I —2K—Y*> S RRIA2B YSR3RE (R B |Emm - | v B0 R

[AE%] 17 :2,000,000 § ~ 237 :800,000 . 37&:500,000H  435:300,000 . 53&:200,000 9

B\ % B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
-y P—=7'= B4 | HPF 1:19.4 1-1-2-2 39.8| - 1 419 | MF=F (BEH
11111 | =2rvE=T= 55.0 (=) 9 |BA
Ry d=FILYIT B:NI/AR—H BREVTY RSV T - T7—LA
=g *~ ) > 4 8 | Afi—E 1:19.5 9-9-8-6 |38.7| — 7 517 | LICI&EE (FEh)
21718 |=2/59VF 57.0 @) @) |SEES
RiFAF Vv MU BHFIFvY 11405
< *EE -19. —6-6- . - AFHE (EH)
3 2F—T 2T — v 7| AU (11 119/28) 7-6-6-5 | 39.5 8 (4_732) e
RixF1=ZV7—R B:RF—TJe04(Y IR
_ i o6 | BREE 1:19.8 3-3-1-1 (40.1| - | 2 | 55 |ATES (EH)
4 AN —hXA2R 57.0 @e) @#3) | ) KNBR—ILT 1 TR
R:YIRI4 TSR BN-UYRDTY BRI
p t10 | BERHT 1:20.1 10-10-10-8 [ 38.9 | — | 10 | 508 | fEHE (Flkih)
5 FIASL—=T 57.0 @ Gy | L@ Fr—=revay
SINNVTSY BiFRTYPAUR RS
) &R :20. -7-7- . — REATL (Fkk)
6 RIPIVITYk "EED ave | TP | o | s
RIIZART—=IVIF— BINAT—Zv PRI
s REEBEIN :20. ~4-4- . - s (TR
7 X430y KD 559 1(12/02)5 403 ? (5335) AT
RPIRIATSR BiAAY39ITY SIBS
N — =y HHAE : -4-3- - WMP=ES (EH)
s 912025 s | g9 i | e el = | o @ i
R:FARAIU—bFry b B:IH/F4—N\ J\ AR5
— N o, =n Y 9 | IBETF 1:20.9  [1-11-11-11(38.8 | — | 11 | 493 |%6H¥R (EH)
9(8|N|TA—7FYT 57.0 ('3/4) G ) F—LERZ NES
R:FA—=TAVNT b BIIIVART 4TS BRER 45
— 3y s 4 | KHEH 1:21.1 6-7-9-9 |40.6 | — 6 473 | MURESES (FERR)
10(8] 10| A¥—~TLY—L 55.0 a1/ G | K172
R:FVyvY/Fe+ B:AY—bTO—-35 BRLLEKS
TRE 122, -)-5- . - BAEE (FEk)
15| 5| Ry bOTY 5180 1(272)2 2o | 423 ’ gg KRS
R:AX—KhT7ITY BIY—XDVsvya thAy  BhER
® 11— —@BIEfI
13—7F— 1,5,9,4,3,10,(6,7) ,8,2,11
20—7F— 1,5,9, (3.4 .6, (7,10),8,2,11
30—7+— 9,1,3,4,5,6,7,8,10,2,11
Mal=5r= 9,1,3,4,6,8,7,2,10,5,11
@ Ih\R=E
B B 1 20| | 94K 1-8 780 & 1-7 3209 3iEE 1-6-8 10,1304
B B 1 1504 1-6 980M F5 & 1-8 2,520/ EL| 1-8-6 35,390M
8 3309 6-8 1,950 =] 1-8 2,940
6 370

ABIC OV TRUTEREERRODDZE. THRIIZEL.




